N = 0l & At & Ml A

L RR-F1-
HE: #N2IFH(IBS)

Sel: o2y (B9 ®R)
S BA(SA) - ABAY - BES 0 &k o p[EL" HDE2
= 1,168,188 1,165,422 2,766
HYR2IZH (T&HS) 419,604 416,838 2,766

el 2| 157,624 154,858 2,766
oI 244l 157,624 154,858 2,766

101 @14 dl 157,624 154,858 2,766
01 2= 145,156 142,390 2,766
OAN2LA2RSY FHZ(27H) 34,726 34,065 661

— 6= 12,3213 «7H «10AI 2t+ 128 10,350 10,185 165
-2 11,1303 »8H »10Al 2t 12E 10,685 10,514 171

— 8= 9,992 «5H «10Al 2t 123 5,996 5,900 96

- 9= 9, 1603 7 10A| 2t+ 128 7,695 7,466 229
Ooxzuz2=e+¥ 10,651 x27H «32A1 2t 128 110,430 108,325 2,105




N = 0l & At & Ml A

R B
Za: wAS A

Sl XA (S &2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

TR 781,841 666,923 114,918

&S AR I 517,829 404,686 113,143

KX 128,231 125,088 3,143

PN 18,223 15,080 3,143

206 T Z 9,429 6,286 3,143

01 HEHl 9,429 6,286 3,143

OYSIAY RE SAH(ANE BY) 9,429 6.286 3,143

OIS 2o BA =T 119,500 9,500 110,000

=S =R 110,000 0 110,000

201 Yer2 | 50,000 0 50,000

03 A2 50,000 0 50,000

OBAZ TFS HE T 30,000 0 30,000

O0ISA siEa YUxt 20,000 0 20,000

307 812H0| & 60,000 0 60,000

04 BIZ AN 2T 60,000 0 60,000

O=S5H A X 60,000 0 60,000

Y2 YA (U4 S) 251,284 249,509 1,775

ol 2 gt 98,996 97,221 1,775

o124 b 98,996 97,221 1,775

101 9121 bl 98,996 97,221 1,775

o1 24 91,024 89,249 1,775

ONAA2R+Y FoU=(173) 21,494 21,044 450

- 63 12,3212 5 2+ 10A| 2t 122 7,393 7,275 118

~73 11, 1302 ¥38 +10AI 2H+12 4,007 3,943 64

- 83 9,902 x2% +10A] 2H+128 2,399 2,360 39

— 93 9, 1602 +7% +10A] 2+128 7.695 7,466 229

OZDIL4Y  10,6512%172«32AI 2 #1282 69,530 68,205 1,325




N & 0l & Av S Z M A
SN B58
g Es8 A EH
ool MXBY A (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HI RS2
258 729,046 723,859 5,187
E5S MBI 435,920 432,721 3,199
TxHEy A 172,006 168,807 3,199
LALS 18,391 15,192 3,199
206 M= Hl 9,597 6,398 3,199
01 MHZ 4l 9,597 6,398 3,199
OYAALY RF SUAHL(AAE BHY) 9,597 6,398 3,199
HYRIZH (E=S) 293,126 291,138 1,988
el 2| 121,055 119,067 1,988
Q4] 121,055 119,067 1,988
101 @124 4] 121,055 119,067 1,988
01 2= 101,782 99,794 1,988
OANt 22" ZHEZ(19Y) 24,072 23,565 507
— 6= 12,3213 «6H »10Al 2t+ 128 8,872 8,730 142
A= 11,1303 x3H »10Al 2t 123 4,007 3,943 64
— 8= 9,992 «2H «10Al 2t<123 2,399 2,360 39
— 9= 9,160 8 x10Al 2tx12& 8,794 8,532 262
Ooxzuz2=e+¢ 10,6513 x 19 «32A1 2+« 128 77,710 76,229 1,481




N & 0l & Av S Z M A
S£AM: HoteH
I L0t Arg 3l
oo RMXBY A CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
CHOHEH 775,943 772,524 3,419
CHOFE AbRS B4 576,968 574,868 2,100
TxHEy A 109,733 107,633 2,100
LALS 10,697 8,597 2,100
206 M= Hl 6,300 4,200 2,100
01 MHZ 4l 6,300 4,200 2,100
OYAALY RF SUAHL(AAE BHY) 6,300 4,200 2,100
HY2FZH (CHOHH) 198,975 197,656 1,319
el 2| 85,359 84,040 1,319
oI 24| 85,359 84,040 1,319
101 124l 85,359 84,040 1,319
01 2= 70,361 69,042 1,319
OANZA2RS-L T UZ(13Y) 17,191 16,885 306
— 6= 12,3213 4B »10Al 2t+ 128 5,915 5,820 95
A= 11, 130& x5 x10Al 2t 128 6,678 6,572 106
— 8= 9,992 «2H «10Al 2t<123 2,399 2,360 39
— 9= 9,160 2 x10Al 2t 123 2,199 2,133 66
Ooxzuz2=e+¢ 10,6513 »13H «32A1 2+« 128 53,170 52,157 1,013




N & 0l & Av S Z M A
S Qe
M s A
ool RIS CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
oxd 736,350 732,908 3,442
QZH A3 544,758 542,658 2,100
TUXHEHAS 130,673 128,573 2,100
LALS 10,697 8,597 2,100
206 M= Hl 6,300 4,200 2,100
01 MHZ 4l 6,300 4,200 2,100
OYAALY RF SUAHL(AAE BHY) 6,300 4,200 2,100
HY2IZH(2EH) 191,592 190,250 1,342
el 2| 74,825 73,483 1,342
oI 24| 74,825 73,483 1,342
101 124l 74,825 73,483 1,342
01 2= 69,888 68,546 1,342
OAN22RS+Y HHZ(13H) 16,718 16,389 329
— 6= 12,3213 4B »10Al 2t+ 128 5,915 5,820 95
A= 11,130 x3H x10A| 2t+ 128 4,007 3,943 64
— 8= 9,992 «2H «10Al 2t<123 2,399 2,360 39
— 9= 9,160 4 x10Al 2t 123 4,397 4,266 131
Ooxzuz2=e+¢ 10,6513 »13H «32A1 2+« 128 53,170 52,157 1,013




N & 0l & Av S Z M A
SN A
M 24H A
ool MXBY A (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HI RS2
=2 685,421 681,573 3,848
S8 A3 489,885 487,365 2,520
TxHEy A 96,631 94,111 2,520
LALS 11,117 8,597 2,520
206 M= Hl 6,720 4,200 2,520
01 MHZ 4l 6,720 4,200 2,520
OYAALY RF SUAHL(AAE BHY) 6,720 4,200 2,520
HY2IZH (2LH) 195,536 194,208 1,328
el 2| 83,309 81,981 1,328
Q4] 83,309 81,981 1,328
101 @124 4] 83,309 81,981 1,328
01 2= 69,988 68,660 1,328
OANZte 22" FHE(13Y) 16,818 16,503 315
— 6= 12,3213 4B »10Al 2t+ 128 5,915 5,820 95
A= 11,1303 x3H »10Al 2t 123 4,007 3,943 64
— 8= 9,992 «3H «10Al 2t+123 3,598 3,540 58
— 9= 9, 1603 «3&H x10Al 2t 123 3,298 3,200 98
Ooxzuz2=e+¢ 10,6513 »13H «32A1 2+« 128 53,170 52,157 1,013




N & 0l & Av S Z M A
2N 2NE
X ZANE AL
ool RXBH A CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F Hl DS 2
Rags el 620,606 616,032 4,574
MY AHS B 421,274 418,022 3,252
TUXHEHAS 76,117 72,865 3,252
AAsgEiid X 1,152 0 1,162
301 LA S 1,152 0 1,152
04 A2 LHUHAHXA 1,152 0 1,162
OXsLdHU2E OFAHI
4,000 *24H +23| x6F 1,152 0 1,162
LdALS 10,697 8,597 2,100
206 M= Hl 6,300 4,200 2,100
01 =4l 6,300 4,200 2,100
OYIANY K7 SUAHM(AYE 1Y) 6,300 4,200 2,100
HYR2IZH (FAMPH) 199,332 198,010 1,322
el 2| 78,599 77,277 1,322
oI 24l 78,599 77,277 1,322
101 1244 dl 78,599 77,277 1,322
01 2= 70,504 69, 182 1,322
OAN2L2ZR+Y HHZ(13E) 17,334 17,025 309
— 62 12,3213 «5H «10AI 2t+ 128 7,393 7,275 118
—-7=2 11,130 »4F «10Al 2+ 12 5,343 5,257 86
— 8= 9,992 «2H x10Al 2t<123 2,399 2,360 39
- 9= 9,160& 2 »10A| 2t+ 128 2,199 2,133 66
Oozu22+¥ 10,6513 »13H «32A1 2+ x 128 53,170 52,157 1,013




N & o & AF & H Al A
2N 28
M Z2HEH ASEH
ool A A (el @ e)
SA - BAEN) - NRAY - LS 0l &F 24 o1& o HRE2
Gag— gl 647,385 748,811 A 101,426
=g H AHZ 2 437,481 540,331 A 102,850
X HE A 105,719 103,619 2,100
HAALS 10,697 8,597 2,100
206 M= Hl 6,300 4,200 2,100
01 = tl 6,300 4,200 2,100
OUYAMNY 25 SUHAM(UME BHY) 6,300 4,200 2,100
FOStE ) 2 AL =2 41,119 146,069 A 104,950
2 #3FEel =AM 28,519 133,469 A 104,950
201 et 0 54,950 254,950
01 At 2teltl 0 54,950 A54,950
OEclg 2dxt 0 20,000 A 20,000
Oolsst&a Xt 0 3,300 A 3,300
OAME TFSHE 2 Xt 0 30,000 /30,000
OFBILRZE 0 1,650 A 1,650
—Hse 0 1,650 A 1,650
307 21201 A 0 50,000 A50,000
04 DIZHHALALSE E X 0 50,000 A50,000
OZ&a=2el =M A 0 50,000 A 50,000
HY2IZH (L) 209,904 208,480 1,424
ol 2dH| 81,613 80,189 1,424
ol Al 81,613 80,189 1,424
101 @124 4] 81,613 80,189 1,424
01 2= 75,283 73,859 1,424
OAZ2RY FHZ(14Y) 18,023 17,690 333
— 6= 12,3213 x5H 10A 2t % 12 7,393 7,275 118
— 7= 11, 130& x 1H «10Al 2t 128 1,336 1,315 21
— 8= 9,992 «5H x10Al 2t 123 5,996 5,900 96
- 9= 9,160& «3Z «10Al 2tx 122 3,298 3,200 98
OxM=2Z2=¢ 10,6513 x14H «32A1 2+« 122 57,260 56,169 1,091




N & 0l & Av S Z M A
M e
M FAE AAY
ool MXBY A (eol:@e)
SH BB S(SH) - MPAY - B2 O 4t o4 Il = e HRS2
= Ragel 815,008 810,371 4,637
SAE AL B 573,268 570,268 3,000
TxHEy A 105,518 102,518 3,000
LALS 16,794 13,794 3,000
206 M= Hl 8,000 5,000 3,000
01 MHZ 4l 8,000 5,000 3,000
OYAALY RF SUAHL(AAE BHY) 8,000 5,000 3,000
HAE2AZH (o) 241,740 240,103 1,637
el 2| 94,421 92,784 1,637
Q4] 94,421 92,784 1,637
101 @124 4] 94,421 92,784 1,637
01 = 86,034 84,397 1,637
OANte 22" ZHZ(16Y) 20,594 20,204 390
— 6= 12,3213 «6 B »10Al 2t+ 128 7,393 7,275 118
A= 11,1303 x3H »10Al 2t 123 4,007 3,943 64
— 8= 9,992 «4H «10Al 2t+<123 4,797 4,720 7
— 9= 9,160 4 x10Al 2t 123 4,397 4,266 131
Ooxzuz2=e+¢ 10,6513 x16H «32A1 2+« 128 65,440 64,193 1,247




N & 0l & Av S Z M A
AN HAH
M HAEH MY
oo RXBY A CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
gdH 748,252 744,280 3,972
HAH AL B4 478,113 476,013 2,100
TxHEy A 102,274 100,174 2,100
LALS 10,697 8,597 2,100
206 M= Hl 6,300 4,200 2,100
01 MHZ 4l 6,300 4,200 2,100
OYAALY RF SUAHL(AAE BHY) 6,300 4,200 2,100
HY2IZH (HBAEH) 270,139 268,267 1,872
el 2| 120,495 118,623 1,872
oI 24| 120,495 118,623 1,872
101 124l 120,495 118,623 1,872
01 2= 96,313 94,441 1,872
OAN22RS+Y HHZ(18Y) 22,693 22,224 469
— 6= 12,3213 «6 B »10Al 2t+ 128 7,393 7,275 118
A= 11,130 x3H x10A| 2t+ 128 4,007 3,943 64
— 8= 9,992 «3H «10Al 2t+123 3,598 3,540 58
— 9= 9,160 7 x10Al 2t 123 7,695 7,466 229
Ooxzuz2=e+¢ 10,6513 x18H «32A1 2+« 128 73,620 72,217 1,403




N & 0l & AF & & A A
SR T
o gGEs A
Sl XA (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
e 752,516 745,437 7,079
SRR AR 516,415 510,249 6. 166
KX 136,686 130,521 6.165
PN 7,501 6.100 1,401
206 T Z 4,203 2,802 1,401
01 HEHl 4,203 2,802 1,401
OYANY RF SANL(AaE 8Y) 4,203 2,802 1,401
z523% 18 15,024 10,260 4,764
101 9121 bl 15,024 10,260 4,764
04 IAH2EZTSES 15,024 10,260 4,764
OB0BE=SY 22| 73,2802 124 x652 4,764 0 4,764
EBTEP= 321,729 321,728 1
MPYIIHKY e 2Y 67.573 67,572 1
401 A&l 2 = 0| 7.226 25,000 ~17,774
01 Al bl 7.226 25,000 A17,774
ONSE MYIINIT HIJHY AL 23 7.226 25,000 A17,774
405 TtobFH SHI 17,775 0 17,775
01 AL ESFH SH 17,775 0 17,775
OMHII4IE 28%A 7Y 17,775 0 17,775
HZ2YAY (LBH) 236, 101 235,188 913
o122 o bl 64,438 63,525 913
o124 b 64,438 63,525 913
101 1248l 64,438 63,525 913
o1 24 49,032 48,119 913
OAN2AA2R4Y FUE(93) 12,222 12,010 212
- 63 12,3212 *4% *10A] 2t +128 5.915 5,820 %
A= 11,130 «3H «10Al 2t+ 123 4,007 3,943 64
- 83 9,992 12§ +10AI 2t+128 1,200 1,180 20
—93 9,160 12 +10AI 24128 1,100 1,067 33
OxRIRLY 10,6512 9% x32A| 2 128 36,810 36.109 701




